488
E 3~ RS EMNSEESR

— JEER

1~4.CCCD

5.D

2R LI E L, W04, OF
OC =AHEAIEE, {55 A, B, C
A A A T REROA” OB ,0C 3.

6.B

RN:AH, BN ab=0ca Lb;B
X5 C L AR a*=b*<a |=|b | ;D 4,
HN a-b=acoa (b-c)=0=a L (b—c).

7.D

8.D

9.D

RN - 25 ) P[] & i aze J2 3 T 1)
i, SHIE LA E R KR, A
5 ] A Oy [ W R C R A
It B, C fi%; D RARIER.

10.B

RN MRS, ABLAC,ABLAD,
FFLLAB L F1H ACD. X AC LCD,HH =
ML EH, Ll BC LCD. LA ABCD &
Hffi =M.

11.B

&R : M HA(ab)-c=(b-c)-a,

X a,c ALk, Ll a-b=0,b-c=0,

itk d-b=(a+c)-b=a-b+c-b=0,

JIrA(d, b)=90°.

12.C

'R EHR b-a=(2,1,0)-(1-1,1-1,
1)=(1+1,2:-1,0),

B UL | b-a | = V(1+)5+(20-1)% =

V52142 =\/5 t_17\2+97 273 V5 .
5 5 5
—. il

=a
=l

1340

IR A-BCD JZIEWIH R, 55 H
A0 L1 BCD, FRAAOZF-1fi BCD
— ANk

14.-4

15.-15

16.(1,1,1)

IR W DP=y>0, ] A (2,0,0),

B(2, 2,0>,P<0,0,y>,E(1,1,%’),ﬁ:

(0.0.y). AE=(-1.1. 5 | BiLL cos(DP,

1
7)o DPAE 2Y oy
122 2+)L/1i VB

%,Wﬁa y=2, 0L E(1,1,1).

= BEE

1798 . HAM =AAB +uAC AR 1]
REIMEEN, 50M=04"+AM =04 +A -
AB +uAC =04 +A (0B -0A ) +u(OC -
04" )=(1-A—w) 04 +A\ OB +u0C Mi¥ezs
[F1 ] f5t B A 7 BT, — A o) i AR —
JET o3 R ME— By, i 1=1-A -, 1=
Asm=w, fEFA=1,u=-1,m=-1. 7 Lim+
Au=-1.

18.%@:(1»110’—;—@—;—

S

A 10’—;—(ﬁ’+fﬁ’)

A lo’-%—ﬁ:mo’—mﬂ A

—

<z>ﬁ’=@’+—ﬁ'=;—@’+ )

2
3
1 /5> —\ 2 —>

=2—(BA +AD )+3—AAl

1 11— 2 -—
=—?ﬁ+?AD +?AA1 5

FJ?LJW_;—E’— iD-

l\)‘l—‘

19/ (1 >ﬁﬁ=%m=mﬁi=

Lataan,
FF AU IR EG FH AT DU AT
MA C=BD, LAV EG FHIEZEIE
B LAEF L HC SEFSGHII A1 R90°.
(2)f1 (1), [FELAEER L MN , B LA
EF 1L V- TIMHNG , i LLEF L HN ,EF L
MG EXEF- (NH+MG )=0.
20.5%. (DB EH. 5
AB=(-2,-1,3),4C=(1,-3,2),

__AB-AC
ﬁﬁ(‘,05<m,ﬁ>— ‘ﬁ‘ ‘n‘

_(2)x1+(=1)x(=3)+3x2

1
VAr49 x\/ 14944 2
FF L) m@ﬁ’,ﬁk@.

W s= |18 |A¢| sin(AB . AC )=

V3.
FTAIAE ,AC il iy ¥ 7 1
MR R 7V 3 .
(2)# a=(x,y,2).
M alAB ,alAC,
] a-AB =0,a-AC =0,
Hlal=Vv'3,
—2x-y+3z=0,
It Lk {x=3y+22=0,
F+y+2=3,

x=1, |x=-1,

fEAT | y=1,85 | y=—1,

=1, |z=-1.
L a=(1,1,1),8 a=(-1,-1,-1).
2158 . Lhsi D WIE R 0,DA,DC,

DDy 53R x,y 2 FEEST ZS [ A ARPR AR
M p(0,0,0),B(1,1,0),4,(1,0,1).
# P(0,1,x), i xel0,1],
WBP=(-1,0,x) , AP=(-1,1,x-A).
4 AP L PB,JITLIALP - BB=0,
FRAALIFS 22-Ax+1=0.
& PME— 13 A=A%-4=0, H 1>0,
f#As A=2.
22.(1)IERR: KA C, AB +AD +AA,

=ﬁ’+A—D’+§—AAf+§—AAf

(B 3 AN |+{(A7 4 5377
=(AB+BE )+(AD +DF )=AE +AF .
FrLLALE, Cy, F VE S 3LT,

(2)#& [N NEF=AF -AE =AD +DF -

(1B +BE)=AD +5 DD, 1B -+ BB, -
—ﬁ+ﬁ+?AAl ,
\ 1
Jir LA x=—1,y=1,z=? ,

it LA x+y+z=% .

F4T

2020-2021 F4

= Jelmx (i

Z
£ 18
% 3~ R Z RS EER
— JEFESR
1.B
R HA@IER.
2.A
3.C
4.D
5.0

RBoR: RA®EE D i alE |
i, Bl p=g , T p S ¢ BIFEATE51.

6.C

BR.AB 5AC I R =
[AB+AC |>|BC | B|aB+ic |>|BC |=
AB HAC e s i ik c.

7.D

8.D

9.C

R T p, YA d=0 B,
S,=na,, "B} 5 (n,S,)TE— 5 HL F, T
P p AT, 390 A st R A R,
T v, 4 mat+(2m=2)x-150 FfiE
0 R m##£0 H.(2m=-2)*+4m<0, J
fife, BT LA r B ALK C.

10.C

?i%ﬁ?;—?kl%lﬁyz—%x+’%ﬂ@|§”%

[RIAf it 5 — =, M%EE:—%%,H

’]T <0=m>0, H n<0=mn<0, JX Z A0

PG C.

11.C

12.D

B R Ax) & R BB R,
HA-1)=-4,

FIEA Q={ x| flx)<-4 t=tx|x<=1 |

[FIHE, 15 P=lx| f(at)<2 I=ln|xh<2 |=
{x|x<2-1 1.

HR % e P e Q"I AL
BN,

FITLA P Q8 2-1<—1, f#15 1>3.

ZETE
13.A=60°,B=30°( &% R°E—)
1418

15.1;4

Bl x| <sm(m>0), AlfF-m<

x$m.%p =g BIFE o5 M -m=-1

H m<4, 15 0<m<1,M m B9 KAH

h 1;%p &g DA U —m < -1

H m=4,1#1%3 m=4,0 m {)5/IME N4,
16.(0,2)

£0-1)ERAE 1 L8N %9) ‘;’J da@ @

Hix|x=2 B a<-2 [Clx|x=1+m

E Wmx<l-mi,

B2 0(m>0), M pire |

x+m
(=m,2m).HH x(x-4)<0,7% ¢:x € (0,4).
HRHE U, P E R 7 DX R AH 2SR

AR ERR,EE m>0,1% 0<2m<

4,k m BUETERDE(0,2).

= REE

1758 R Al U5 o — R
BOZ R R W R BUN S R R,

WO A R < A — A R AN
S0 BRI, U327 o R B R K5

AN <5 — A PR AN S LA bR
K80, D327 R S JR 0 R

WA AT < A7 — 1> BREUE A 39T R
S0, W32 R RSAS 2 LR PR L

183 B « (5 — A 1 5
7 A M P, BT

TE B i Ay LA A
BN a+b=0, L a=-b,b=-a.
KA A )2 R 3G R %R,
Frllfla)=f-b) ,f(b)=f~a),
JPL fla)+f(b) = f(—a)+f(=b).
JIT LAt Ry LA R, i CHA T i

Bt 1-m=-2 H. 1+m<2,

X m>0,# 0<m<1.

It LASEE m BB FEZ (0,1,
21.0ERR . FE A KN a4b=0,
fiR Lk S, =ag"+b=aq"-a,

rd a,;S,,—S,,F(aq”—a)—(aq”'l—a)=

talg=1)g(n>1).

N a=ag-a=alq-D)WH & X,
J A a,=alq-1)g"(n e N,).

A1 a(g—l)g" _
BrLl a, alg-1)g"* =1

B 0, DEA T ¢ BISE B,
BN RN B a, R TR ¢

A LR,
oo a(l-¢") @,
bl s =t
R S,=aq"+b,
P a=—=B—,b=-8—.
iy 1
LA a+b=0.

25 b SARETRIIE

228 (1D a=[0. 7).

B=<—1,4>,c:(o,é—).

19.98 : 45 T FE 2 4ma+1=0 A FHL |
LU A=m>~4=0, Tk prm=2 dim<

-2;

m<3.
=20 m<-2
Hop B g8 "0 ’
P q m=3 8 m<1,

T m=3 8 m<-2;
L (=2 2,
i p i g 20,75 S

1<m<3,
FTPA 1<m<2.

LR A4 (m=2)x+1=0 JCSEHK
HE LI A,=16(m-2)-16<0, T LA ¢g:1<

B A & B LT AL BT,
HI A 53,3&%@.

RD>0,@WD>}T. o)
A & ¢ BT BT 544,
%uc;mﬁ&%%—ﬂ%[l@. ®

HOQ MO IF A 150=1 5k2.
(2)D={x| ¥+(a-8)x-8a<0f=lx]|

E (x+a)(x-8) <01,

BT LA m B IS (o0,

2]Ju(1,2)U[3,+%).

20.f% . (x—14m) (x—-1-m) =0, H |

0=p: =l+m i x<l-m |. . /
I:F‘m> =p xe{x‘x +mﬁx m% ! AﬂD:(O,%),mU—aso,Eﬂ 0=0

Hy x:n% EEO ARG,

Bqixe fx|lx=28 x<-2 1.
N p J& g WA B g=p,

M=1 Bf,4=00,1), Bl A ND=

0,3 | AT AL

W ]=2 Hﬁ,A:(O,%),EKE#%i{ﬁ

HOEAS A D=( 0, 5- | i9— it

L AT ae [-1,400) (BERE—)

F1W



@ £2H

FE3~4REFRANSEER

— IEEE :
1B 2A 3C !
4B

BR e S p Hq &

5.A

L0 g #
RS p 8 g RELATAL 2
AN T, T A

6.B !
=R QM. :

7.A

8.C

SRR AL FILAIHE : (1)F p 2 g
AR p” AR ¢ WAL, “p 5L ¢,
“p H ¢" AEAME,a=b=2;(2) #Fp g
B AR p”, Al ¢ R E, “p Bk g7, p B
¢ B a=b=2; (3)% p.qg P—H—1&,
RWiLA p B g BAH M “TE p”,“p H ¢”
AL AR g7 p B g EL a=b=2.

9.D

RN V3 cAUBIIRER: V3 ¢
AUBFTUN3 ¢4 HV/3 ¢BHING e
(EsA)N((B). |

10.C

R B wy=- o TR |
£ EVR 19 % FR gl 7 L, S a0, FF 1L
S o) R BRI I /M, BT BT A 19 S 4K
%, B0 ) =) B C AR

11.D :

BN e 2a-3<0 H7, 4 a=0 |
i, —3<0 7 5 !

M 40 B,

a<0,

A=4a+12a<0,

FrLA-3<a<0.

12.B

?iEEﬁT:%p Hyq h H A

-3=<a<0,

7N : cos (a+B) =cosa * cosB—sina *
sinB, B4R C.D N H ;sina-sinB=0 B}, A
REB MR EGE B.

—HEEE

13AFAE x<0, {75 (142) (1-922)>0 |

14.5p H q" g™ . "p Bl g™ " !

BRI p 8, ar il g B BT

: Uﬁ%@“pﬂq”fﬁ,fﬁ%é“pﬁq”ﬁ,“ﬂp” :
Ty

15 FAF B A — 5 25T |
BoRgp: AT —ERER

v AT, X LR R R A
BRI AR R AT
D AR o R, S

(A , BUR ARG p” P AT
WA — s, A LA, !
16.1ale<-2,5 a=1}
= BEE .
1788 () AR 55 T 2B i <
F”, FCS AR A AT 946 KR A
HE AR, AR, B A, |
(2) RBP4 AP R B —
A R R R, LA,
() fBrp oA SR A T, 2
AFR A, H A, |
() Fr B p AT AEAE A TP R
188 45 p WEAMAA, N 1 eix|a’< E
at, il 1%<a, B a> 1547 ¢ HEATEL W 2
{x|x<at, Bl a>4. :
(D) H g  WELATE, W p 1 g 11, |
8 a>1 H a>4, Bl a>4. :
FTASEH @ 9B TE LR (4, 400).
() B ¢ W EL A,
N a>1 8% a>4, Bl a>1.
FRASTH o BTSSR (1, 400). |
19.#% . p: £ & x eR,Ig(ax?+2x+1) |
HEX, !
BT —4] x € R, an®+2x+1>0 18 7.
X a=0 i} , NEGHE,

a>0,
FrLk 1% a>1.
A<O0,

T LASERL o BT LR (1, +00).
200 el @ p g EK T o

B R
H 224 2a+4>0 FHER x e RO,
18 A=(2a)?-4x4<0, ff#15-2<a<2.
FITLA p i -2<a<2.

H y=-(4-2¢)" J& R LR EL,

18 4-20>1, fiR 15 a<%.

A q:a<%.

|

H“p 3 ¢" WE,“p H ¢" B, ¥ p

g A —ERG B p Hog LB p

B q L.
-2<a<2, a<-2,B a=2
A A 4
a?%, a<%,

ﬁﬁ/%%$a<2,ﬁ a<-2.

JILL, S o BUEE R (o0, -2 ] U

N‘oo

,2 )
R
210X TFD, 274 > 1, Bl —a?+ax—

2550, # xt-avt 22 <0, BHAHFRAG

v RIS AR A=?-25<0, i 13-5<a<5.

X T, a=3 B, AEXREN

Clalesl LR % 03 B R
! X (=3 a2+ (a=2)u—1>0 HIfRE oS 4.

a-3<0,
nj
(a-2)+4(a-3) <0,

#5272 <a<2V2 .

$HF@, H N x2+j7>z\/xz-;7 -2,
%H{X% 22=1, B x=+1 Hﬁﬁl%%
BELARS asa+ 5 MRS I 2 01

B a<2.

P, 24 = A A5 A il 42 40 =

CAERT, 22 <a<2.

PR AEE = A AEFEXEZH WA
AR 2 5 WIS o BEUE TR

: Elala<-2V2 , 5 a>2 1.

220 (1) ¢>0 B, { x| s2-4av+3a’<

L 0l=lx| (x-3a)(x-a)<0 |=! x| a<x<3al, il
LR a1, AR p B BB E A =l |
1<x<3 |5 MM | x2=x-6 <0, H. x+2x-8>0 | =
D x| 2<u <3 BTLAATIEL g I 4 A 2

. B={x|2<x<31.

yﬂpﬂqj’{lﬁ, Al ANB={x|

! I<x<3 tNix]2<x <3 {={x|2<x<3 1.

WCSEH o AIUEE R R 2 [ 2<x<3 .
(2)FHp g BT ALESAT,

VTR g R p BIFEA AL A1 (DA,
: {x\2<x$3}%%x‘a<x<3a}(a>0),ﬁﬁw\ a<

2 H 3<3a,fff5 1<a<2.
B o MBUETERDE o] 1<a<2 1.

g2l

1 . V' 3
2 sin2x+ 2

= ALImX (£

% 3 8
F -3 METUKSEER
— JIEFEH
1B
2.0

R OFIRF R AR H |
*ﬁ%ﬂ@jﬁﬁﬁ,fﬂxgié%(@% X,y
H—NE, D= AAEN, [ [+]y [~
0:@2Y ¢=0 AL X AL © 2
HATE L, R RO A —E TR |

3A
4D
5.C
6.A

4, fH a+b:4+i—>4, FTEL “a+b <4” 5
“ab < 4" I FCAT AN LB LA

BIR a2>b?, Z—<1 KREEMEH a>b,

;7 )<( L |'esab.

2
10.A

BR AR X, D, "M p R
AR, W —p A AR 5 g AR AT, Mg
BATEL T LA p 3% g B, -p B g B p H !
-g B, —p H-g B.HGE A

11.C

BRA={x|-1<x<1 ;Y a=1 B ,B=
fx|b-l<x<3 A5 “a=1"E“ANB= "1 |
T A EL A A, W o D500 I 451
b-1<1=b<2 T LA b BHUE T AT LA
{b b2 B T4 ik C. |

12.A

R A xe [ 5. 5|

TR :HR 00,050, TPd 4=at+h =2 |
Vab 1 ab<4: 45 azd b=t W ab=1< |

cos2x+\V 3 =sin(2x+1

cnzEngim L27 30) )R

BLlome V3 s V3 e ) s
: Wk A. ! H1 ¢ NEATRL, 15 a>1.
! —EEE ' o FBUETEEZ(1,+00).
. 133 L BN H " WA, w7

HEATE, B p g —H—{R.
#1 p Hog 1B o AAFAE

P g B 1<a\§—gz aag.

"R %q,,,ﬁ%a,,ﬁa,,, FrLIH |
B{ q, | R 380 DRECH | 5 R LA A,

A A R R A iy .

ORI A e . e ORI
14,7 T RAIISSCAR R 5 (1.3 ]u]5 4.
1511.2) 0B (D MNPl [5<e<s
E,—\_ N = JAEFI | ! . H =X X = )
?ﬂi;%ﬁ Lfﬁmﬂ&unﬂ_,ku ' -3<a<b5,Hlt MNP={x|5<x<8 |
(S oy =lsa<2 | EAAHR o] -3<a<5].
16,0 20) (2RI a B

4 | MOP=lx|5<u<8} 11— FEATIT AL HE L

IR g(x)<0 15 2-2<0, <1,

v g(x)<0, BT PL flx)=m(x-2m) (x+m+3)<0 !

! m<0, ! o B /N
| 2= LR R -m-3<L it -4ame0. 2};@&;%%;4 NP=iz]5<w<8iM—15E
i 2ml., ()RR o R L

= BEE
! 17 ERR OB m2n2=2, M) m4n<2”
v R T AL U R R A m+
vons2, M mAn2£2”7.
KN m+n>2,

BT mn2= %(m+n)2>%><22=2 ,
FTLL m24n?##2. !
PR AR, |
AT D i A, Ry LA 0, A5HIE. :
18.1ERR . 741k - :
K4 A8 NG HAsB=T .

\ tanA +tanB
FrLA tan(A +B)=m=l ,
T 4% tanA +tanB=1—-tanA tanB,
B LA(1+tand )(1+tanB)
=1+tanA +tanB+tanA tanB

=1+(1-tanA tanB )+tanA tanB

C I ETE

L 8II—LEEARTE A
' 2188 . (DA f(x) +g(x) =a +22+
@

) e eREL, g(o) {8 PREL,
J A2 ) +g(x ) =—a’*+a’+a’. (@)
. HOOQ, 15 f(x)=a’, g(x) =x"+a*
' (a#0).

Cas<-18a=1.

' g(3)=9+a'=17, 1% a=2.
A p B q AL p R q 1%,

=2. : Fild ae (-1,1)N(=,2)=(-1,1).
WA ' i p B g HEATI q € (o0, -1]U

E [1,+%).

P 2073 cosicrsin| 26-3- | 4m>0. B0t vt i, 258 (1) 0, | WHREE I 0,5
B 2\/370052x+sin(2x—%)>—m. : 8 tan(A +B)=7lti?:n;t?;£3 =1. é a. Bl 3Y:m.2/y:>3"_m.2"é .
W y=2 V3 cos'x +sin [20- T = | 2 A B J9Bish BT LA 0<A +B<r, fufel, AT ’"<2X(’23) '
1 3 : }J\ﬁ’ﬁA+B=Z—. : %%ﬂl%l%(ﬂn)ﬂx(?)"%il%ﬁ,
V3 (l+(:0$2x)+2*sm2x—270052x= ) F)T‘Uf(n)?f(l):&

pos kﬂ%ﬂ,an:I—ﬁ (1+tand ) -

: X FrLA m<3.
[+ 0 (letanB)=2 (9 FE L.

3
V3 19.5%: (1) p Sy HAirdl, (2)#7p Jng LB TEI AT,
' ) o 3 W p 2 g TSP A LA,

e[ T 5] Mol e[&, T0ep<l R Y
62 3 l3 s s HHK LS 0 AR AT <
W e[ T e [V PR L . S VP
: e a BEE R (5. 5- ). ' \
V3 V3 3V3 . 22 ) ; 5 3
7},}6[ 2 o } (2){£%xeR,7§‘x—l‘20, ﬁirﬂ’]ﬁﬁ(&lﬂ%[z ,+°°).

E3IW

I p A o 3<q< /N

v 8 RZ MNP=lx |5 <8I A—EFH a=

© MO P=!x|B<e <8 HI— M LER TS I
- RESIR— M (i o] -3<a<5 HEE Y

MR ia|a<s5), WA—EHB MNP=

" Jx|5<v<81 B M P=lx|5<e<8 i}, 1%
v A a<5,ilala<<51E MNP={x|5<xx <

(24 p B, 58 f(x)7E[1,2] F24Y
PR, P L () =f (D =2 =1, 7 15

g BT xel-2.3],[gx) .=

Xm0, FTLA m BIBUETEEE(0,3).



